First Names Cities Cocktails
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$42,000

$95,000

$100,000

Salaries

$177,000

$238,000

bloody marys
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gin and tonics

lime rickeys

Cocktails

white russians

Greensboro SEIEES First Names Cities Cocktails
Jackson $42,000
$95,000
Las Cruces
$100,000
Nashville $177,000
Tacoma $238,000

1. The person who drinks lime rickeys did not grow up in Greensboro.

2. The person who drinks bloody marys earns more than the person raised in Tacoma.

3. The employee with the $42,000 salary did not grow up in Tacoma.

4. Either the person who drinks mudslides or the person who drinks white russians grew up in Las Cruces.
5. The employee with the $100,000 salary drinks white russians.

6. The 5 people were the employee with the $95,000 salary, the person raised in Tacoma, Saul, the person who drinks
lime rickeys, and the employee with the $100,000 salary.

7. Mckenzie earns less than the person who drinks mudslides.
8. Lauren earns less than Saul.
9. Of Rebecca and the person raised in Nashville, one earns $177,000 per year and the other earns $100,000 per year.

10. The person raised in Las Cruces is Lauren.
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